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sEaTY 27,214,097 27,148,362 65,735| 99.1% |2 # 16,060,913 15,686,360 374,553 58.5%
M| Fa+d 0 0 0 0.0% 2| 2Ay| 4,973,104 5,412,000 N438,896| 18.1%
mE=E Ju Rl 0 0 of 0.0% |TEAH| 5,397,000 5,335,000 62,000 19.6%
imES felE el 125,340 180,000 A54,660] 0.5% |mS2H|2 139,154 100,000 39,154  0.5%
S Xet7 | EFRHA= 0 0 of 0.0% |M&2 100,000 1 99,999| 0.4%
RSP Bl 2 S el 5 7,002 16,997 0.0% ofld|d| 1 100,000 99,999 0.0%
nYENAF 0 0 of 0.0% |FXPIIERIXIE 0 0 ol 0.0%
I E-PNe= 127,351 250,000 A122,649 0.5% DHEAMAXE 796,621 952,003 A155,382 2.9%
kB P 0 0 of 0.0%

7|0l ¥R t= 0 0 0 0.0%
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1815 & JIHIZ 0020y 1 1,000 rogo| . E2 1,000
1816 X228 20420 1 1 o . == 1,000
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0213 |5 e oy 10,455,218 3 10,485,215
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